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| 10:1:28.2 (422, 53.5, ) =X 73 802 (X/A)  [18.252518.1 / XL 7.3 -4 5.2 |18.152.5-18.0 / L B.0- 40 58.7 | 18.1-52.1-17.7 / L 6.1 -4 53.8 | 17.850.8-17.7 / &L 6.0 - 4 42.5
188 3E(0/0/0) 2403174101 AR 30044 4(8/9) 282 =£.2 1102 600576(7/10) 20 45 =77.9 67= 300333(4/10) 262 =10 182 80088 10(6/10) 27 #4 =41.7 10=
ZI258| =S43 1 46083 F2Q 2@ 2@ F2®
Zlo|= SE 558 1000m 58 1000m %| 17| &
D 6 E7H =Y 40 5 2% 50.0% 5 2FOE 50.0% 8 sa2tg 154% 3 &g 1:250
A 8 2t 36 4201z 20.0% 4 gtolzt 40.0% 1 ozt 6.3% 6 M 1:25.1
T 5E30E 34 9 23t 20.0% 9 2%t 20.0% 2 SALEA 45% 2 SAREAL 1:255
A 2 EAMEAL 33 8 =2tg 95% 8 s2tg 19.0% 6 ZTH =Y 33% 1 &2zt 12259
1 8ozt 32 7718 6.3% 1 ZZohz 182% - 4 gtelzt 12263
E= e R ZZ eME M3 X4t 200m 7| E 621 HH) Z4t 200m 7| 5 (621E ) HEX|$
T 8 s=2tg 36.8840t 2 EAMEA 22,684t 5 2FOE 175 2 SAHEA} 174 (ESEal-L | 99
| 6 &=y 26.1440F 8 2t 13.0840t 7 7|t 179 10=2Z2 178 3 & 98
P 2 SAHEAL 22,6448k 1 ZToizt 12,0240t 10x52 181 1 &2zt 179 2 SAREAL 97
S 3 =g 22,0443k 9 23t 9,143t 3 e 184 4 2to1z 179 1 &2zt 94
5 2S0HE 17.5840k 4201 7.6848k 9 2%t 184 6 ST =Y 180 4 2kolZ 2
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